Foundations of Mathematics 20

2-Column Deductive Proofs
Fill in the missing statements and reasons

(Use appropriate symbols and abbreviations)

#1:

Given: Line c is parallel to Line d ) \/ .
24 = /3 N C

Prove: £4 = /1 ) ' Y_ "

Statement Reason

l.cld 1. Given

2. 24 = /3 2. Givenne

3. £3 =12 3. Qovresp . LS

4, Ld L2 4. By the transitive property

5. L= Ll 5. VOA

6.£44 =21 6. By the transitive property

#2:

Given: Line Lis parallel to Line n

Prove: 22 + 27 = 180°

Statement Reason

1. YW 1. Given

2. 26+ 27 =180° 2. Lwnaon pow
3. £6 =122 3. Corresp LS

4, LA+ L7=1%0°

D

. By substitution
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#3: ] \
8N\ 7 >

. . . . < N\ 6

Given: Line lis parallel to Linen \

4\3
Prove: 21 + £6 = 180° " < IK >
Statement Reason
1. lln 1. Giwemne
2. 21+ 24 =180° 2. et poas
3. L4=4L60 3. Altint £s
4. 21+ 26 = 180° 4. b“’f s ulsh o
#4.

I 8\ 7 R

Given: £5+ 22 = 180° h SY

4\3

n < >
1\2

Prove: Line [ is parallel to Line n \
Statement Reason
1. L5+ L= 1807 1. Given
2. 22+ 23 =180° 2. e ponn
3, LS +LA = LA+ LY 3. By substitution
4, L5 =4S 4. By subtraction
5. 11l 5. whim OMK K LS OAL eGusl
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#5:
Given: «£BCD + «BEF = 180°

Line AB is parallel to Line CD

Prove: Line BC is parallel to Line EF

¢ ' >
E F
Statement Reason
1. LBLD ¥ LBEF = \QD° 1. Given
2. AR\ OO 2. Given

3. £BCD + £ABC = 180°

S

. LBCD + 4BEF = £BCD + £ABC
. (REF = LABRC

Ul

(o)}

. BC I EF

4 M kg hihony

5. By subtraction

6. wﬂ,\p\,\ orresp Ls aag eii“c‘(
thi o oAl porolll



